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for x in range(1,7,1):
print X
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max=39
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Age=int(input('Aooe nAikia'))

while Age>=40:
Fylo=raw_input('A®ce @vAo’)
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while Fylo<>'A" AND Fylo<>T":
Fylo=raw_input('AdBoc! Zavaddoe pOA0")
AMKA-=string(input('Aoce AMKA"))
Emvolio=TYPOS_EMB(Age)
print(AMKA,Emvolio)
if Age>max:
max=Age
maxAMKA=AMKA
maxEmvolio=Emvolio
Plithos+=1
if Fylo==T"
Gynaikes+=1
Age=int(input('Adoe nAikia'))
print(maxAMKA, maxEmvolio)
Pososto=Gynaikes*1.0/Plithos*100
print(Pososto,'%")
#END

def TYPOS_EMB(X):
if x<=50:
return "Tomog 1'
elif x<=60:
return "Tomog 2'
elif x<=70:
return "Tomog 3'
else:
return "TYomog 4'
#END def

OEMA A

#OEMA A
OMADES=([]
BATHMOI=[]
PROK=[]
BATHPROK=[]
for i in range(100):
OMADES.append(raw_input('A®ce évopo opddoc'))
BATHMOI.append(int(input('A®ce Babuporoyio opdodag'))
if BATHMOI[i]>150:
PROK.append(OMADESJi])
BATHPROK append(BATHMOI[i])
N=len(PROK)
for i in range(1,N,1):
for j in range(N-1,i-1,-1):
if BATHPROK([j]>BATHPROKJj-1]:
BATHPROK]j],BATHPROK][j-1] = BATHPROK]j-1],BATHPROK]j]
PROK{j],PROK]j-1] = PROK]j-1],PROK][j]
else:
if BATHPROK(j]==BATHPROK]Jj-1]:
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if PROK]j]<PROK][j-1]:
PROK][j],PROK][j-1] = PROK]j-1],PROK]j]
count=0
Found=False
i=0
while i<N AND NOT(Found):
if BATHPROK]i]!'=BATHPROK([O0]:
Found=True
else:
i+=1
count+=1
print(count)
#END
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